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(Awe, Ener, Fan) MATHEMATICS (PART - III)

[. Multiple choice questions: 4x1=4
1. Volume of a = (Side)3 Cubic unit.
a) Cuboid b) Cube c) Cylinder d) Cone
2. The value of ‘a’ in the following expression
40
Xa is
320
a)8 b) 0 c)4 d) 10
3. A circle representing data is called
a) Histogram b) Bar graph c) Piechart  d) Radius
4. Amount of region occupied by a solid is called its _____

a) Area b) Volume c) Cube d) Circle
SECTION - B
II. Answer the following: 2x2=4
5. Find the side of a cube whose volume is 1000cm3.
6. Find A & B in addition 5 A
(+)3 4
B 2
SECTION - C
[1I. Answer the following: 3x3=9

7. A rectangular paper of width 14cm is rolled along its width and a cylinder

of radius 10cm is formed. Find the volume of the cylinder. (Take 7 = %)

8. Choice of food for a group of people
Favourite food No. of people
North Indian 30
South Indian 40
Chinese 20
Others 10
Total 100

Draw a pie - chart for above table.
9. Find the value of A, B & C in multiplication

A

X

B
3

CA B

SECTON-D
III. Answer the following: 2x4=8
10. a) The area of a trapezium is 150cm2 and the length of one of the
parallel sides is 20cm and its height is 10cm. Find the length of the
other parallel side. (OR)
b) The shape of a garden is rectangular in the middle and semi - circular
at the ends as shown in the diagram. find the area of this garden.
(Hint: Length ofthe;"}:ecvtangle =20-(3.5+3.5)=13m).

11. a) Draw the histogram for the following data.

Class Interval 0-20 | 20-40 | 40-60 | 60-80 | 80-100

Frequency 55 90 45 65 20

(OR)
b) Plot the following points on a graph sheet. Verify if they lie on a line
K(1,3),L(2,3),M(3,3)&N (4, 3).
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SECTION - A
[. Multiple choice questions: 4x1=4

1. The additive inverse of - is
19

7 19 -19 -7
a) — b) == c) —= d — o
) ) ) = ) 15
b
2. IF the ratio 2a to b is 8 times the ratio ‘b’ to ‘a’, then — could be .
a
1 1
a) — b)1 c) — d) 2
) 2 ) ) > )

3. Which of these is not a monomial?
a)27ab+9b b)5x-2x 5 d) 2x2+3
4. Which of the following is not a direct proportion
a) Number of articles purchased and its total cost
b) The number of workers on a job and the time taken to complete

the job.
c) The money deposited in the bank and the interest earned
d) All of the above
SECTION - B
II. Solve the following: 2x2=4

5. Identify the terms and coefficient for the Algebraic expression
5x2 +3xy + 2y2.

7
6. Verify that x = -(-x) for x =+ g .

SECTION - C

[1I. Solve the following: 3x3=9

7.a) Find the product of (x + 8) and (x - 5).
b) Subtract 3x- 5 from 4x + 2.

8. A bus travels 15km in 30minutes. If the speed remains the same, how far
will it travel in 6hrs.

9.1In a class of 35 boys, 20% of them did not complete their homework.
How many boys have completed their homework.

SECTION -D
IV. Solve the following: 2x4=8

3 3
10. a) Find 10 rational numbers between gand Z (OR)

b) If a sum of money is divided equally among 36 persons, they will get
%25 each. How much money would each get, if the number of persons
is reduced by 6?
11. a) Simplify the expression z(z - 3) +2 and find the value for Z = -2.
(OR)

8 1
b) i) Multiply — by the reciprocal of —.
) i) Ply o by p 30

ii) Name the propertya+ (b+c)=(a+b) +c.
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(Attn, Maj) L2 HINDI (PART - II)
L%, weerd farfae| 1T 2HTIHET x1/2=1
. e e fafAw| LEGER 23840 2tz 2
1. Q-3 TTaEEh e i@ 1.8y 2.8 2x1/2=1
u. fraefe 137 2.97E " x1/2=1
3 AT T 1.373mfadY 1x1=1
I.Faw A v e frdamar fafde: 3X1=3

F. IR | AT Fare ek e faife)
g afew (@i Rrede w ag fafav
T3 S TR T AT § e aree v farehyor i fafe
. e Fr it 22=4
LATIA EYT € ; JF T8l 99 & A R gU T

2. N WHRT Fet TRATE?

V. TeARR
FAATG 1. TS & HH T IR % T- T&f el of 2w ? 2x1=2
2. TG o QYaTel T AATA T AUT?
gay 3. faame = femr ar 22=4
4. P & aRT H AT T30
T.REE 5 PEEE R AR T IO ATl [@m. 1x3=3
6. YYe & NS I g TR gaTm

V. 1. 39 faggrea R 311 FeATerd & ke AT Qe =T 2020 M Fga ATH
SeTEaYeT e e e 5 R e T T | 37 31 Fer e 8
IqFTATT Ao AATE | C&r] 1x3=3

2. 39T 39 T Ae Arfrer awelt §1 30 faw e dar Hifaw
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L. QuTmaT HHs: 3x1=3
1. uGLd - 2. 6mLoWiey - 3. wgLb -
I1. Camgl L @I Smg Elyiys: 4x1=4

4. GEIEISET + 6TE06VMLD sTeTLIGEmE S GCETH0S WSS SmL&ESWh Q&6 ........
5. SHEUEMOVSO .......... J|606v.
6. WESMD 2 ad Sl LIETH BoLCUNN @ILLD ...
7. 2 eoigmIL60T BOW ............. Gamaf.
111 wewriium_(1 LG 2+1=3
8. aTGm GoLd sTard QBTG uTLedleT (paed mrear@ auflasT 6ripsis.
9. ‘melleQETMID’ 6TeTS QSTLEIGLD GMEMET IjIglOTMTLOE) 6T(LHSIS.
V. sflwurer eflmLemwsg CaihosO\SS! 6T(L8s: 3x%=1%
10. (560 1S5S aTflans QSTEUIUG ...
o) oigims  op) @owy @) sbsrd ) Cumene
1. @ri(m Qumflgs gewilullar Coun@uwi ...
9)) UhlgCumilsed  g) Gounmemn @) 2 ausmn ) HGovsmi
12. Geusoarum .............. RENG 2 DL G
9)) gletered  g) GlElued @) MEIGH  FF) &6
V. giedlerréasat: (sTemeuCigmid epeirmenid@ i G ellemLwiefl) 3x1%4=4%
13. uBSEIH ST Searey WTE?
14. wrm& @ sTemeTll LMl Y|&FFLD @sdemen ?
15. eTid. gfl. ouir. BILSSGImMUild F(HILLS STIT6UOTD 6T6u 6o ?
16. SEmaT ETEITLIG) WITS)?
17. e’ L Guens LTHTL g6 SHabgIS0sTaTEnH (et &ECUSST an g
wrg)?
V1. Smiellernsaei: (sTemeuGuggid eeirmeid@ LG el weafl) 1x2%4=2Y
18. wihl erIGUTE) LTEMSWIT(SLD?
19. grdlwed allpiGemen undw CwrsdlsTafler &mSgiseT wWreme?
20. wESEHSE CFw Cousmnpw QT @ GNISS H(Hepair Fnmiug WG ?
VIIL. Op@elermsse: (sTensuGuemid saTmes@ wl G eflenLwefl) 1x4=4
21. surgd (pemm, SSgied & updiu Y GWrSdlsT el
sl gmarsmers QTGS 6T(LSIS.
22. LIT60 LOGUTLD - TEUTERILD SHENGEMLI Sr(h&he 6TLSIS.
VIIL Slpsaemi semeliseflsd erCaamid eerm undl srwgis: 1x2%=2%
23. 2. a7 261G U uad) CouetTy LTHEST CUTSGMTSS
OGO Sn (B elsuTemTlILLD QIGmITS.
24. ‘sLe upll’ usgleuflseT aitsmTenaTs SHalng 6.
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[. Multiple choice questions: 4x1=4
1. The square root of 6400is _____ .
a) 80 b) 800 c) 3200 d) 320
2. Which of the following is a cube root of 270007
a) 300 b) 20 c) 3000 d) None of these

3. The standard form of 0.000035 is
a)3.5x105 b)3.5x106 ¢)3.5x105 d)3.5x107
4. If anumber has 1 or 9 in the units place, then is square end in __.
a)o9 b) 1 Ao d) 2
II. Solve the following: 2x2=4
5. Find the square root of 169 by repeated subtraction.
6. Express 6.237 x 107 in usual form.
[1I. Solve the following: 3x3=9
7. Express the following in standard form:
a) Size of a bectaria is 0.0000005m.
b) In a galaxy there are on an average 100,000,000,000 stars.
c) The distance of the sun from the centre of the milky way Galaxy is
estimated to be 300,000,000,000,000,000,000m.
8. Write a pythogorean triplet whose one number is 8.

9. Find the cube root of 13824 using prime factorisation method.

IV. Solve the following: 2x4=8
10. a) Construct a quadrilateral ABCD: AB = 4.5cm, BC = 5.5cm, CD = 4cm,
AD = 6¢cm, AC = 7cm. (OR)

b) Construct a rhombus whose diagonals are 5.2cm and 6.4cm long.
11. a) For 1458, find the smallest whole number by which it should be
multiplied so as to get a perfect square number. Also find the square
root of the square number so obtained. (OR)

b) Solve: x-2 _ 7,
2Xx+4 6




